
A student attempted the 
following question:

Are they correct? Explain.

1. Factual recall 2. Carry out a routine procedure 3. Classify some mathematical object 4. Interpret a situation or answer

5. Prove, show, justify
Areas of Circles

6. Extend a concept 7. Construct an instance
8. Criticise a fallacy

Calculate the area of these shapes:
a)

b)

c)

Calculate the area.
Leave your answer to 2 d.p.
a)

b)

c)

State whether the following 
calculations for the area are 

true or false.

A sheep is tethered to a post 
by a rope of length 9m, at the 
centre of a square field. (See 
the diagram below).

What percentage of the field 
can the sheep graze on?

The circumference of a circle 
has a length of 56.549𝑐𝑚.

Show that the area of this 
same circle is 254.47𝑐𝑚2 
when rounded to 2 d.p.

The area of an ellipse is 
given by the formula:

The area of a circle is 
452.39 𝑐𝑚2 rounded to 2 d.p.

Sketch the circle and label it 
with the radius.
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𝐴 = 𝜋𝑎𝑏

Assuming the earth takes an 
elliptical orbit around the sun, 

with the sun at the centre of the 
ellipse. Calculate the area 

bounded by the earth’s orbit.

Maximum distance from the sun:
= 1.52 × 108 Km

Minimum distance from the sun:
= 1.47 × 108 Km

Circle Calculation

𝐴 = 𝜋 × 82

𝐴 = 𝜋 × 16
⋮

𝐴 = 𝜋 × 72

⋮

𝐴 = 𝜋 × 172

⋮

8

14

17

Calculate the area of the circle. 
Leave your answer to 2 d.p.
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